

BAHAGI TANPA MENGUMPUL SEMULA

1 $48 \div 2 = \square$ **4** $63 \div 3 = \square$

$$\begin{array}{r} \square \square \\ 2 \overline{) 48} \\ - \square \square \\ \hline \square \square \\ - \square \square \\ \hline \square \square \end{array}$$

SIFIR 2		
2 x	0	= 0
2 x	1	= 2
2 x	2	= 4
2 x	3	= 6
2 x	4	= 8
2 x	5	= 10
2 x	6	= 12
2 x	7	= 14
2 x	8	= 16
2 x	9	= 18

SIFIR 3		
3 x	0	= 0
3 x	1	= 3
3 x	2	= 6
3 x	3	= 9
3 x	4	= 12
3 x	5	= 15
3 x	6	= 18
3 x	7	= 21
3 x	8	= 24
3 x	9	= 27

$$\begin{array}{r} \square \square \\ 3 \overline{) 63} \\ - \square \square \\ \hline \square \square \\ - \square \square \\ \hline \square \square \end{array}$$

2 $62 \div 2 = \square$ **5** $39 \div 3 = \square$

$$\begin{array}{r} \square \square \\ 2 \overline{) 62} \\ - \square \square \\ \hline \square \square \\ - \square \square \\ \hline \square \square \end{array}$$

SIFIR 2		
2 x	0	= 0
2 x	1	= 2
2 x	2	= 4
2 x	3	= 6
2 x	4	= 8
2 x	5	= 10
2 x	6	= 12
2 x	7	= 14
2 x	8	= 16
2 x	9	= 18

SIFIR 3		
3 x	0	= 0
3 x	1	= 3
3 x	2	= 6
3 x	3	= 9
3 x	4	= 12
3 x	5	= 15
3 x	6	= 18
3 x	7	= 21
3 x	8	= 24
3 x	9	= 27

$$\begin{array}{r} \square \square \\ 3 \overline{) 39} \\ - \square \square \\ \hline \square \square \\ - \square \square \\ \hline \square \square \end{array}$$

3 $86 \div 2 = \square$ **6** $96 \div 3 = \square$

$$\begin{array}{r} \square \square \\ 2 \overline{) 86} \\ - \square \square \\ \hline \square \square \\ - \square \square \\ \hline \square \square \end{array}$$

SIFIR 2		
2 x	0	= 0
2 x	1	= 2
2 x	2	= 4
2 x	3	= 6
2 x	4	= 8
2 x	5	= 10
2 x	6	= 12
2 x	7	= 14
2 x	8	= 16
2 x	9	= 18

SIFIR 3		
3 x	0	= 0
3 x	1	= 3
3 x	2	= 6
3 x	3	= 9
3 x	4	= 12
3 x	5	= 15
3 x	6	= 18
3 x	7	= 21
3 x	8	= 24
3 x	9	= 27

$$\begin{array}{r} \square \square \\ 3 \overline{) 96} \\ - \square \square \\ \hline \square \square \\ - \square \square \\ \hline \square \square \end{array}$$

cikquezekiel